K.C.P.E. TRIAL 
MATHEMATICS
STD. 8
Time: 2hours
REAP THESE INSTRUCTIONS CAREFULLY
1. You have been given this question booklet and a separate answer sheet The question booklet contains 1-50
questions
2. Do any necessary rough work in this booklet
3. When you have chosen your answer, mark in the ANSWER SHEET, not in this question booklet
HOW TO USE THE ANSWER SHEET
4. Use only an ordinary pencil
5. Make sure that you have written on the answer sheet
YOUR INDEX NUMBER YOUR NAME
NAME OF YOUR SCHOOL
6. By drawings dark line inside the correct numbered boxes mark your full Index Number (i.e School Code Number and the three-figure Candidates Number) in the grid near the top of the answer sheet.
7. Do not make marks outside the boxes
8. Keep the sheet as clean as possible and do not fold it.
9. For each of the questions 1-50 four answers are given. The answers are lettered A, B, C, and D. In each case only ONE of the four answers is correct. Choose the correct answer.
10. On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in which the letter you have chosen is written.
Example
In the Question .Booklet
9. Work out the following 4(3y + 2) + 3(y - 6)
A. 15y + 26
B. 15y+10
C. 9y + 26
D. 15y- 10
The correct answer is D ( 15y -10)
On the answer sheet:
8. [A] [B} [C] [D]
9. [A3 [B] [C] [D]         10 [A] [B] [CJ [D]    11. [A] [B] [C] [D]
11. You dark line MUST be within the box
12. For each question ONLY ONE box is to be marked in each set of four boxes
TURN OVER
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1. What isNine million. ninety thousand and nine innumerals A. 9009009 B.9090009 C. 9909009 D. 90900009
2. What is the place value of digit 9 in the figure 483.192 A. Tens B, Hundreds C. Thousandths D. Hundredths
3. What is 1 -5-11 correct to 3 decimal places?
A. 0.999 B. 0.090 C. 0.091 D. 0.100
4. Mr. Wambulwa bought aT.V. setatshs. 27000 after getting a discount of shs. 3000. What was the discount as a percentage?
A. 10% B. 11 V9% C.12%% D.20%
5. “
Find the square root of0.0576?
A. 0.0024 B. 0.024 C. 0.24 D.2.4
6. Miginde stayed with her aunt from the morning of 10th January 2008 to the morning of27th May 2008. For how many nights did she stay there?
• A. 127 B. 138
C. 130
D. 128
A. 77cm2
B. 154cm2
C. 19.25cm2
D. 38.5cm2
8. Workout: - 16,8 x 0.3 2(1.0+ 1.4)
A. 10.5 B. 1.05 C. 18
D. 1.8
). Asenji bought the following items from the shop.
2kg of sugar for shs. 180
two, V2 litre packets of milk @ shs. 42 per packet 5 OOg packet of tea leaves at shs. 120 per kg.
21/., kg of meat @ shs. 240 per kg.
Ho v/ much balance did Asenj i get ifhe gave the shopkeeper a shs. 1000 note?
A. shs. 924 B. shs. 882 C. shs. 118 D. shs. 76
10. Three consecutive numbers add up to 282. What is the product of the smallest and greatest number?
A. 8836 B. 8930 C. 8835 D. 8742
Which of the following tables correctly represents the information in the graph?
	Days of Week
	M
	T
	W
	T
	F |

	No. of Pupils
	10
	4
	3
	11
	14 (


	Days ofWeek
	M
	T
	W
	T
	F

	No. ofPupils
	10
	3
	4
	12
	14


	Days ofWeek
	M
	T
	W
	T
	F

	No. of Pupils
	10
	3
	4
	11
	13


	D.
	Days ofWeek
	M
	T
	W
	T
	F

	
	No. ofPupils
	10
	3
	4
	11
	14


12. The length of two diagonals of if a rhombus are 16cm and 30cm. What is the length of one side ofthe rhombus? A. 17cm B. 34cm C. 240cm D. 25cm
13. The L.C.M oftwo numbers is 24 and GCD is 2. One of the numbers is 8. Find the other number.
A. 6 B. 3
C. 16
D. 12
14. What is the next number in the sequence below?
1,2,3,5,8,

A.11 B.21
C. 13
D. 12
15. The perimeter ofthe figure below' is 84cm. Find its area
(2x +2)cm
(x - 2)cm
A. 1440cm2
B. 360cm2
C. 30cm2
D. 900cm2
16. What is 0.4% written as a fraction in simplest form?
A. 7, B. '/;J0
C.‘/B D.*/s
17. The hour hand of a clock is 3.5cm long while the minute hand ofthe same clock is 7cm long. What distance does the tip ofthe hour hand cover in 12 hours?
A. 11cm
B.22cm
C. 264cm
D. 132cm
18. Mr. Peter acontractor in Likuyani District left 4 windows on one side of a CDF classroom wall. The space for each window was 1.5m wide. The distance between any two window spaces was 2.5m. If the first and the last window spaces were 1,25m from the wall ends, what was the length ofthe wall?
A. 18.5m
B. 13.5m
C. 8.5m
D. 16m

19. The figure below show’s Mrs. Juma’s farm. Find the perimeter.
jOM
21. Simplify; 8a(4b2-c*> 2ac + abc
27. Find the difference between the largest and the smallest angle in the figure below.
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28. A square plot whose area is 16ha is represented on a map by a square sketch 4cm2 in area Find tb e scale used. A. 1:200 B. 1: 10000 C. 1 : 20000 D.1:100
29. Six men take 12 days to instal electricity poles from Matunda market to the D.E.O.’s office Kongoni, a distance of3 km. How many more men are i.eeded to do the same job in 8 days?
A. 9 B. 3
C. 18
D. 6
30. What is the value of; % of 5%+ 6% V/3 -%
A. 7% B. 8%


A. 8 B. 51VS C. 3%
D. 2%
22. Construct a triangle ABC where AB=8cm. Angle CAB = 70° and angle BCA=60°. What is the length of
lineAC?
A. 9.6cm B. 7cm C. 8.5cm D. 6.8cm
23. Mr. Mulama wanted to fence his circular fishpond whose radius is 28m. He decided to fix posts at an interval of 4m apart and left an entrance gate measuring 16m. If each post cost shs. 35. How rduch did he spend?
A. shs. 770 B. shs. 1400 C. shs. 1435 D. shs. 1540
24. Water gained heat at the rate of 12°C per minute for 6 minutes. Itwas allowed to lose heat at the rate of 5 °C per minute. If the temperature before heating was - 12°C. What was its temperature after 10 minutes?
A. 64°C B. 40°C C. 34°C D. 10°C
25. A bird was standing on top of school flag post and saw an insect on ground which was 24m far away from the foot of the post. Ifthe post was 10 high, find the shortest distance between the bird and the insect?
A. 14m B. 13m
C. 26m
D.24m
26. What is the distance round the figure belowinmetres?
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31. Mr. Molan deposited shs. 4000 in Equity Bank at the rate of 12% p. a. After how long will the money amount to shs. 4480
A. lyrs. B. V2yr. C. 2yrs. D. 9 months
32. An Akamba coach left Kitale for Nakuru at 8.35 p.m. on Tuesday. If it took 7 hrs. 40 mins. to c omplete the journey. What day and time did it reach Nakuru?
A. Wednesday 1615Hrs. B. Tuesday .1.615Hrs.
C. Wednesday 0415Hrs. D. Tuesday 0415 Hrs.
33. Arrange %,%, 0.4,50% from the smallest to the largest. A. 0.4, %, %, 50%
C. 50%, 0.4, %, %
34. Kipchumbahadatotal of shs. 4000. He wanted to change it so that he gets shs. 500 notes, 100 notes and 50 notes. Find the least number of notes he got at last.
A. 13 B. 8
C. 5
D. 12
35. A sales lady earns a basic salary of shs. 3000per month. In addition she also gets a basic salary of 2%% on goods sold above shs. 20000. During one month, she sold goods worth shs. 50000. How much did she earn?
A. shs. 4250
B. shs. 3750
C. shs. 3500
D. shs. 4750
36. Kiplimo, Edwin and Nancy are employed in a farm. Kiplimo’s monthly salaiy is shs. 50 more than that of Nancy. Edwin’s sdaryis shs. 90 more than half of the total amount earned by earned by Kiplimo and' 'Jancy. If Kiplimo’s salaiy is shs. n, which one of the following expressions below represents the total monthly income of the three employees?
A. 3n +165
B. 4n -10
C. 3n - 30
D. 3n + 15

37. Child abuse cases have decreased in fee ratio 2:3. After the community was educated on the constitutional rights of the child. What is the number of cases now if it was 252 before?
A. 151 B. 10
C. 378
D. 168
38. Oduor spent V9 of his salary on food,ofthe reminder on school fees and the rest on leisure. If he spent
shs 12000 on leisure. Howr much was his salary?
A. shs, 54000
B. shs. 42000
C. shs. 1800
D. shs. 7500
39. A tank has some water. Dorothy removed 7 V2% of the water. What was the amount of water that remained as a decimal.
A. 0.935 B. 0.925 C. 0.075
D. 0.065
40. The solid below is known as 
.
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A. rectangular pyramid B. rectangular prism C. triangularpyramid D. triangular prism
1. The tank o fwater shown below is 2/3 full. How much more water is needed to fill it in litres?
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A.2.52L B. 1.68 L C.0.84L D.252L
42. The hire purchase price of a sofa set is 25% more than the cash price Mr. Indumwa bought the set onhire purchase terms by paying a deposit of shs. 12000 and 9 equal monthly installments. If the cash price was shs. 24000 how much was each instalment?
A. shs. 1000
B. shs. 2000
C. shs. 3000
D. shs. 1500
43. A farmer divided his farni as follows
	Maize
	- 7 hectares

	Beans
	- 2 hectares

	Grazing
	- 5 hectares

	Homestead
	-1 hectare

	Fruits/vegetable
	- 3 hectares


What angle would represent grazing in a pie chart? A. 140° B. 40°
C. 100° D. 60°
The table below shows the distance form town A to E
A
	30
	B
	
	
	

	55
	25
	C
	
	

	70
	40
	25
	D
	

	90
	75
	50
	40
	E


44. Mrs. Oumatravelled from townAto E through C. What distance did she cover?
A. 105km
B.95km
C. 90km
D. 80km
45 . Whatis54km/h in m/s
A. 54m/s B. 15m/s C. 15km/h D. lOm/s
46. A tea factory produces equal number of V4 kg packets and Vj kg packets of tea. How many V4 kg packets are produced from a total of45000kg of tea?
A. 1500 packets
B. 11220 packets
C. 60000 packets
D. 180000 packets
47. Find the product of the faces, edges and vertices of a triangularprism
A. 270 B. 576 C. 540
D. 450
48. Convert 2m3 into cm3
A.200
B. 200000
C. 2000000
D. 20000
49. The mean age of 3 girls in std 8 at Seregeya school is 11V3 years. Two of the girls are 14 yrs and 9 yrs respectively. Find the age of the third girl.
A. 23 yrs
B. 34 yrs
C. 25 yrs
D. 11 yrs
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50. What distance had he covered by 9.45a.m
A. 16km B. 32km C.24km D.8km
Find the area of the shaded part.
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The graph below shows the number ofpupils absent from school during one week:
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A. 70m	B. 82m C. 90m D. 104m





20. The figure below shows two parallel lines AB and MN.
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If; a = %,b = 3,c = 4





C. 5% D. 7%





B. 0.4, %,%, 50% D. 50%, %, %, 0.4











